AR 16 AT EASEEM
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2910 A A

[ Hots=A YA | (TH - M 9)
BAIRIAO! B ielao] ME EiEAUYR40 S YusHeD
= S | guo | Bl =4
¥ 8 N = of & o
10,695,729 11,082,729 ~387,000
600 AlgH4A 6,158,440 6,458,440 A~.300,000
670 dYelsal 62,000 362,000 A.300,000
672 ElZ|AAMUS 0 300,000 300,000
01 <Big|A 0 300,000 /300,000
oYts|2 Y 2% (0) - 717 (300,000,0008x14) =
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[ YotemAtea ] (he]

o A2Hay & AE2Yoiaey ME  AdREEsY S AdREEsY
. gay |2 Bz
#-3-ME- 5 O 4+ o
100 2224 4,537,289 4,624,289 87,000
170 Z2doig+y 2,929,803| 3,016,803 87,000
171 AdEgasY 1,578,603 | 1,208,603 370,000
01 AEEHZ+Y 1,578,603 | 1,208,603 370,000
O M= YQIRRHF
2% (1,525,603,000%4x14] ) - 7|& (1,155,603,000&4x14)) = 370,000
173 EgA|ALERI4 1,351,200 1,808,200| 457,000
01 ZRERI4Q 1,247,200 1,704,200| ~457,000
OQMHLH Al IHZAIY
#Z (400,000,0009x14) - 7|3 (857,000,0008x14)) = A457,000
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A| &0l At A
[ &EteEAgA |
o= A 20t @FEO0FREE : BHEH(6), Mot E
O AAIY : M- R2|(AH2) @THRIAY 1 4 HF—IW%) OMFAIY : HrESTY TR RAY @S AlLH|ZECY|
(2
T 202 ALY, THRIAY HIEAIY, S HIS o ot | o '»fmt e
2 A 10,695,729 | 11,082,729 /387,000
2NEzI 1,247,200
ANEERZ 104,000
ALH|AH 9,344,529
ARZ 0|4t 5,305,589 5,692,589 A387,000
2NEZRI 1,247,200
NEEZRZ 104,000
AL A 3,954,389
2HE(6)/dete -2 5,305,589 5,692,583 387,000
ZNEZES 1,247,200
ANEERZ 104,000
AR 21 3,954,389
AR 24| (RHE) 5,210,050 5,597,050 /387,000
2NEZI 1,247,200
ANEREZRZ 104,000
A A S 3,858,850
MAT 92|12 (AHE) 2,660,050 2,590,050 70,000
2R 847,200
ANeezZ 104,000
ARA{| 212 1,708,850
Aol S0t 20| 2| AMY 100,000 100,000 0
ZNEZRI 11,200
AL A 88,800
401 A[EB[LEOHE| 45,000 30,000 15,000
ZNEZEF 5,040
A2 39,960
01 AlAH| 45,000 30,000 15,000
O rAESTY FRUAAAR(EH)
22 (45,000,0008x14]) - 7|3 (30,000,000%x14]) = 15,000
2RI 1,680
AL A2 13,320
405 AFAZ|EH 55,000 70,000 15,000
Eonlh = 6,160
AL 2H 48,840
01 AAHUEIZzicy) 55,000 70,000 £15,000
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07 AEo @EOIEE 1 8 (6),
oﬁﬂ”m‘“*Eﬂwﬂg)lE%M

ZHF—I(Z@) OH|SANY - e

ol ZOIZUAY @F : RAHHISH|

T EOHEE AUAIRY, HOIA MBI, S HS AL A | oy | B
OdTUES A FRUAHAIY (EOoH)
Z2 (55,000,0008x14) - 7| & (70,000,00094x14| ) = 215,000
ZNEF £1,680
AL A 213,320
| 7| 2A= 70,000 0 70,000
AL AH 2 70,000
401 AlEHIZROHY| 70,000 0 70,000
AL AH & 70,000
01 Al4H| 70,000 0 70,000
OYYT SEAH| 7| 2A & (H 70,000,000x14] = 70,000
A 21 70,000
Alj4=2| Z2|(A2) 2,550,000 3,007,000 £457,000
ZEz2 400,000
PAEIpIL-T] 2,150,000
M2 A IHSALY 500,000 957,000 A457,000
i L= 400,000
APA| 2R S 100,000
401 A|&H[ZRCHH]| 500,000 957,000 £457,000
ZNEZR 400,000
ARA{| 212 100,000
01 AlgH| 500,000 957,000 A457,000
OAMH L2 A|A I ZEAL
22 (500,000,000% ) - 7| (957,000,000 x141) = /457,000
ZNEZRA A457,000
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